Ki, Mobility

N
Rogue ALX Tipping Lever
.‘_'\\I
O
X
il - :"\-H""\-\. r
B & '“‘“*Eg‘
'\-\.,\_‘h | i e
@ % 1)
.
@ S
o ﬂx s
.-"'-.-. 1\‘-'_#; I:-\""\-\. T 4-\‘
.-Ex-—"'" x:;{l.; -
\3)
#a‘#’ﬁ
.-'"-.
o -'"-
I“\-ﬁj \ | -
l'.l l'“‘\.\____-"'-.--
LY ’
s b
Requires MX Tower Not available with HD option
Item Number  Part Number  Description Quantity
1-6a 119633 Tipping Lever Kit Rouge ALX 1
Used with 24"-26" wheels
1-6b 120811 Tipping Lever Short Kit Rogue ALX 1
Used with 22" wheels
1 101186 M5 X 45 CLS12.9 DIN912 SHCS P/THD BLZ 2
2 100657 M5 Nylock Nut Blk Zn 2
3 119605 Rogue ALX Tipping Lever MX Tower Adapter 1
4 101825 M6 x 40 HHCS BIk Zn 2
5 100658 M6 Nylock Nut Blk Zn 2

08-06-2025



[tem Number  Part Number  Description Quantity

6a 119623 Tipping Lever Rigid 3" Assembly 1
Used with 24"-26" wheels

6b 119624 Tipping Lever Rigid 3" Assembly Short 1

Used with 22" wheels

08-06-2025




